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1 a) Statetwo health and safety requirements when handling and storing
flammable liquids. (2 marks)

b) State two reasons why accidents can occur in the workplace. (2 marks)

2  Compare the differences between being self-employed and being employed
by a garage. (4 marks)
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3 a) Statetwo checks thatare carried out when inspecting a camshaft drive belt. (2 marks)

b) Name two tasks that are carried out on an interim vehicle service. (2 marks)
4 a) Explain why dynamic balancing equipmentis used to balance wheels and tyres. (2 marks)
b) State two pieces of equipment used to check the battery in Figure 1
for serviceability. (2 marks)
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Source: https:/lwww.hardwareexpress.co.uk
Figure 1
3 See next page +
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5 a) Explainthereasonswhy adisc brake is used on a vehicle rather than a drum brake. (4 marks)

b) State two reasons why a braking systemis required on a vehicle. (2 marks)
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6 a) i) Identify the steering system in Figure 2 and the type of vehicle it is fitted to. (2 marks)

Source: http://www-cvdc.eng.cam.ac.uk/directory/research-themes/active-steering-of-long-combination-vehicles
Figure 2

i)  Statetwo reasons why vehicles require a steering system. (2 marks)

b)  Explain whatis meant by the terms ‘rake’ and ‘trail angle’ on a motorcycle
steering system. (3 marks)

o+ 5 See next page +
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7 a) Explainwhyindependent suspension systems are used. (2 marks)

b) Identify the heavy vehicle suspension component as arrowed in Figure 3. (1 mark)

Source: http://www.mercedes-benz.co.uk

Figure 3

8 a) i) Statetwo different engine locations used by vehicle manufacturers. (2 marks)

i)  Describe why manufacturers use a range of different engine locations
when designing vehicles. (2 marks)
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b)  Explain the four stroke cycle in a compression ignition engine. (4 marks)

c) i) Identify the engine componentin Figure 4. (1 mark)

Source: http://www.motor-car.co.uk

Figure 4

i)  Statetwo reasons why the component shown is used in an engine. (2 marks)

-+ 7 See next page +
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9 a) i) Explainwhyitisimportant not to disconnect a battery when the engine
is running. (2 marks)

i)  Statethree pieces of equipment that are used to check for correct
operation of a vehicle’s charging system. (3 marks)

b) State two internal faults that can affect a vehicle’s battery. (2 marks)
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10 a) Identify the drive layout of the vehicle shown in Figure 5. (1 mark)

Engine Gearbox Transfer case

Prop shaft

Source: https://www.iamnotanartist.org
Figure 5

b) Describe how the drive is transmitted from the gearbox to the road wheels in the
system shown in Figure 5. (3 marks)

11 State one advantage and one disadvantage of using a dual clutch (DSG) gearbox. (2 marks)

-+ 9 See next page +
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12 Acustomer has brought their vehicle into the workshop. They have informed the
Service Advisor that the vehicle steering wheel is not aligned after hitting a kerb.

You have been asked to look at the vehicle and to check for any damage
and misalignment.

Propose a thorough explanation of how to carry out these checks including health and
safety considerations, identification and description of the components that could be
damaged and why it could cause the fault. (9 marks)

+ 10 End of assessment +



